B TexHn4Yeckou cucteme Cusibl U3MepPAIOTCA
1kM=1krc=10aH~10H

Y amepukaHuesB
Cunbi 1 kip=1000 Ib

HanpsixeHun
1ksi=1 kip/1 in2 =1000 Ib/ 1 in2 = 1000 psi

HenocTatlowme gaHHble NPMHUMaeTe caMum.



Onpenermrs ko3¢ HIGE HTE 3aNaca TPOYHOCTH AL AHAbparme!
Saxmenex d=4 mo, maTepman — J1611.
IvaTepyan Beex Jme MEHTOEB KoHCTpyRna: J-16AT
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FREE BODY DIAGRAMS

12. For this skin panel show a
typical free body diagram for
internal pressure and down
inertia load. Give formulas
used for computing panel
loads and stresses. (10 Points)




Onpememrs ko3¢ HIRE HTE 3aNac0E MPOYHOCTH CTERHHE .
Iatepman — J16AT.
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9. Calculate beam reactions - - Show magnitudes and vector directions on sketch.
Calculate web shear flow. Show detailed free bodies of stiffeners, web and lower
chord. Calculate web, shear stress and maximum lower chord stress. (8 Points)

STIFFENER
D ‘-UPPER CHORD
—an
A
, /
8.0 | ' /
/
= 7l
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D LOWER CHORD
o
2.0
P=6.0 kip

— 030in?

0.080 THK WEB

0.40 in?

VIEWD-D

Note:
fy 1s positive for tension.
All dimensions in inches



